Henry L. Rigali Attorney at Law 78 Maple Street Springfield, MA 01105

Invoice submitted to: Mr. Petr Frei 101 Maybrook Road Holland MA 01521

July 20, 2014

In Reference To: Johnson vs. Frei Palmer District Court, Civil Action # 1143 CV 0293

Invoice # 10022

Professional Services

		Hrs/Rate	Amount
8/18/2011	11:50 a.m Client contact re 2/19 incident on lake in Holland, MA.	0.50 235.00/hr	117.50
8/19/2011	Continue discussion of new case with Mr. Frei; research cases, Com v. Hyde; Com v. Montgomery; G.L. c. 272 Sec 99, etc.	2.00 235.00/hr	470.00
8/23/2011	Research: receive/review 3 pages of citations,etc. from client	0.75 235.00/hr	176.25
8/29/2011	Research, prep pleading 1st draft, meet with client	2.25 235.00/hr	528.75
8/30/2011	Rev. Hyde, research abuse of process, obstruction of justice, perjury, subornation, civil rights, numerous phone calls, emails, finalize pleading 9 a.m 1 p.m.	4.00 235.00/hr	940.00
9/2/2011	email to PF; review 1st Cir GILK case cited by Peter	0.50 235.00/hr	117.50
9/6/2011	rec/rev letter and 13 pages of research cases from Peter	1.25 235.00/hr	293.75
÷	receive email from Peter	0.10 N 235.00/hr	O CHARGE

Mr. Petr Frei Page 2 Hrs/Rate Amount 9/12/2011 TC w/Atty Saperstein; request written setImt proposal; general discussion of 0.20 47.00 235.00/hr case background NO CHARGE 9/16/2011 Rec/rev written settlement offer form Atyt Saperstein 0.10 235.00/hr 9/20/2011 email from Peter - declines Saperstein settlment offer 0.10 NO CHARGE 235.00/hr 0.35 82.25 TC w/ Atty Saperstein, discuss case status and settlement possibility; email to Peter re: settlement offer; Discuss 1st Cir Gilk case; issues and strategy 235.00/hr emails back and forth from/with Peter; Outline fee structure ; prep and send 0.25 NO CHARGE 235.00/hr cover letter and fee agreement 0.20 47.00 9/21/2011 Rec/rev Answer to counter claims from Atty Saperstein; forward to Peter 235.00/hr 9/23/2011 Rec/rev letter from Peter 0.10 NO CHARGE 235.00/hr 11/18/2011 rec/rev email from Peter 0.10 NO CHARGE 235.00/hr 12/21/2011 email - Case management CF reminder notice received for PF 0.10 NO CHARGE 235.00/hr 0.50 117.50 12/30/2011 Palmer District Court; review file and docket entiries; obtain print out of docket sheet 235.00/hr 1/3/2012 email to Peter -request copies of Palmer D. Ct pleadings, etc; start prep 0.25 58.75 Case Managment CF on 1/12 235.00/hr 1/4/2012 Rec/review numerous docs/pleadings from PF; Review material Peter sends 1.25 293.75 regarding plaintiffs possible recovery of legal fees as part of case from 17C 235.00/hr Mass Practice Sec 61, Crosland - old hospital case from 1987 (hosp phone not an intrecepting device) 14 pages of attachments 1/11/2012 Prep for Case Mgmnt CF; email from Petr, research "Necessity" possibility; 2.50 587.50 Research MA case law re: 99Q,etc: Vieux, Barbaza, Handanian, Birliglia, 235.00/hr Pine v. Rust, etc. 2:30 - 5 pm 1/12/2012 Court - Prep for court; research privacy statute for possible relevance; Meet 1.00 295.00 w/client following court; discuss case w/Peter after court and calendar dates 295.00/hr

Mr. Petr Frei		Page 3
· . · · · · · · · · · · · · · · · · · ·	Hrs/Rate	Amount
1/12/2012 Palmer - Case management Conference	0.25 295.00/hr	73.75
1/17/2012 Rec/rev docket entries for criminal harassment case; Frei vs. Brian Johnson; Case # 1143 RO 079; filed 3/15/11, dismissed by court on 8/12/11	0.50 235.00/hr	117.50
1/18/2012 email from Peter re status of Superior Court case; CD going to steno for transcript prep; written Poehler decision in cr.harassment case to be delivered; Abramson interpretation of statute; etc	0.10 235.00/hr	23.50
1/19/2012 email toPF;Abrahamson interp apprec but irrelevant; rec/rev case docket entries and calendar of events; receive PTC Memo from Court; next hearing on 4/26 @ 2:oo pm; met w/Peter in Spfld office	0.33 235.00/hr	77.55
1/25/2012 Research: Necissity defense; Lafave Crim Law, 3rd edition	0.25 235.00/hr	58.75
2/1/2012 Letter to Peter; invoice; caledar reminders; research status inquiry	0.20 235.00/hr	47.00
2/9/2012 Receive transcript and check from peter	0.20 235.00/hr	NO CHARGE
2/13/2012 emails w/Peter re legIslative history	0.10 235.00/hr	NỞ CHARGE
2/14/2012 email to Peter re: Newspaper article of Amherst PD officers bringing wiretap action vs. Chief	0.10 235.00/hr	NO CHARGE
2/16/2012 Met w/ Peter and Dana at Peter's home on the lake	1.00 235.00/hr	235.00
2/17/2012 email from Peter re 13th Amendment, rt to enforce contracts, etc - attachment re: aggrieved person w/citations	0.25 235.00/hr	58.75
2/22/2012 email research issues w/Peter 2/22 and 2/23 re: aggireved person, Hyde,Marshall dissent, etc.	0.50 235.00/hr	117.50
2/23/2012 Email from Peter and respond re Marshall and Cody dissenting opinions in Com v Hyde;stading vs aggrieved persons ?	0.20 235.00/hr	47.00
3/12/2012 emmails w/Peter re: his research	0.20 235.00/hr	NO CHARGE

Mr. Petr Fre	ei		Page 4
		Hrs/Rate	Amount
3/19/2012	TC w/Peter discuss progress of his research; He maintains Hyde, Jackson and Pine v. Rust are supporting of civil 99@ privacy element; he prefers to assemble a website which will allow me ready access to supportive documents, police reports, cases, etc. I am OK w/this. He expects to have this done in a few days. Peter is behind because he has been ill and had visitors from home.	0.25 235.00/hr	58.75
3/27/2012	Rec/rev 3/26 email from Peter providing legislative history	0.25 235.00/hr	58.75
4/12/2012	Extensive review of Peter's research website -download documents	1.50 235.00/hr	352.50
4/20/2012	Research numerous cases on Casemaker - wiretap, privacy, etc.	1.50 235.00/hr	352.50
	emails w/ Peter; research Lubanski and related wilf & mal BKR cases; also do casemaker search for all superior ct cases invilving "wiretap, civil and 99Q"; find only 2 cases; TC Atty Eric Kornblum who handled Lubanski in BKR court which references superior court judgment; Lubanski not fund on casemaker; EK reports wirtap asepect handled by Atty Brad Moir of Westfield 568-1957. end 10:38 a.m.	0.75 235.00/hr	176.25
4/25/2012	8:00 a.m.start - Continue research in prep of meeting with Peter prior to his arrival; Office meeting w/ Peter from 10 a.m.to 1:50 p.m.; discuss case status and strategy; Peter to research privcy statute for analgous case law, delete 1 hour for time spent with Peter on non-legal subject matters	5.00 235.00/hr	' 1,175.00
4/26/2012	Research all afternoon; 12:30 p.m 5:30 p.m.; numerous cases reviewed and printed from Casemaker; Prep and serve RFP; email and copy to Peter around 5:30; sent status invoice to Peter by mail	5.00 235.00/hr	1,175.00
4/27/2012	Organize file and research; review Glik; make calls to Attys Lesser, Newman, Sibbison, ACLU Boston, Wendy refers me to Patricia Dejunas w/whom I spoke late in the day and to whom I emailed a fact summary; she suggest ANT-SLAP may apply to the bog cits; Wendy not taking cases; David Hoose not able to help; tom Lesser finds case interesting suggest I conmtact bill on his return tuesday; spent late mornng reviewieng Peter's web site, going over statemetns, etc. Esentially full day on this case 9:25 a.m - 5:25 p.m, less 2 hours for unrelaed matters.	6.00 235.00/hr	1,410.00
5/1/2012	lengthy discussion with ACLU Atty Sarah Wunsch in Boston; Discuss cuases of action and constitutional issues; suggests speaking with Attys Howard Friedman and David Milton in Boston; (617) 742-4100 discuss	1.00 235.00/hr	235.00

\$

411.25

Hrs/Rate

several state and federal cases; Blood, Glik, Frisbie v. Schultz, Com v. Adams;

5/2/2012Research; Research Frisby v. Schultz adn related cases on casemaker in
office; Review civil complaint re civil rights counter claim and constitutional
challenge both of which are preserved. TC with Atty. Howard Friedman who
handled 1st Cir Glik case with David Milton; Had no concrete suggestions in
Peter's case but will get back to me w/ideas; agreeable to review materials I
may submit via email, etc. 10:50 a.m. - 12:40 p.m.1.75
235.00/hr

5/3/201	2 emails w/client	0.25 235.00/hr	58.75
5/14/201	2 Monday, all day 8:30 a.m 10:30 p.m research	12.00 235.00/hr	2,820.00
5/15/201	2 Tuesday - all day; 8:30 a.m - 7:30 p.m; Research and draft memos -	11.00 235.00/hr	2,585.00
5/16/201	2 Finish draft of pleadings; file by mail, copies to Peter and Atty Saperstein 7:30 a.m 5:30 pm	10.00 235.00/hr	2,350.00
5/29/201	2 T/C Atty Saperstein 10:40 a.m.; TC client @ 5:40 p.m.	0.20 235.00/hr	47.00
6/12/201	2 Receive call from Atty Sap re allegations of Town Hall incident with Kristen Laplante; call & discuss with Peter	0.34 235.00/hr	78.73
6/15/201	2 Prep PTC memo; emails to Peter, receive/rev. Atty Saperstein Oppopsition to Motion Dism, etc	2.50 235.00/hr	587.50
6/19/201	2 Court - prep for hearing on opposition to P mot SJ; Def Moti Dismiss, PTC Memo, etc - Attending hearing in front of Judge Poehler in Palmer District - end at 4:15 p.m. Prep time 3 hrs; court time 1 hr; total 4 hrs	3.00 235.00/hr	705.00
	almer District Court: Hearing Motion Dismiss; Motion SJ - Poehler	1.00 235.00/hr	235.00
9/7/201	2 TC - client	0.10 235.00/hr	23.50
9/18/201	2 Rec/rev Plaint. Motion Continue PTC from 9/26; relig holiday; assent	0.10 235.00/hr	23.50

Mr. Petr Frei		Page 6	
	Hrs/Rate	Amount	
9/27/2012 FAX Palmer D. Ct.	0.10 235.00/hr	23.50	
10/25/2012 Pre Trial Conference in Palmer D. Ct.; following CF spoke with Peter re trial prep; 1:50 - 2:50 p.m., plus travel back and forth to Springfield	1.00 295.00/hr	295.00	
10/30/2012 rec/rev timeline from client; DEP matter; rev photos; etc.	1.25 235.00/hr	293.75	
11/8/2012 Research/prep/file motion to reschedule trial date; sere couonsel for plaintiff; obtain assent; file motion in court via fax; emailos w/Dana; Motions approved by court; New trial dates forwarded to Peter and Dana to choose.	1.42 235.00/hr	332.92	
11/21/2012 Research: Article 16, MA Dec Rights; rec/rev motion	1.25 235.00/hr	293.75	
1/14/2013 Office; research, trial prep;	6.00 235.00/hr	1,410.00	
1/23/2013 Several calls to court re availability of internet in district court; HC Law Lib; calls re jurisdiction; Clerk Mag Sarnelli, Barb Burton, Kevin Claffey, etc;	1.00 235.00/hr	235.00	
1/29/2013 TC court Spfld D. Ct re Internet access.	0.20 235.00/hr	47.00	
1/30/2013 Prep for Trial, prep forms for trial subpoenas, sheriff letter, motions in limine, directed verdict, Judgment NOV and for Involuntary dismissal per MA Rules of Civ. Pro.; Prep witness Ilist; review witness statemetns and testimony; review jurisdictional issues, pendent jurisdiction, etc. 4:00 - 7:00 p.m.	3.00 235.00/hr	705.00	
2/1/2013 Prep and send trial subpoena to Sheriff for Holland Police Dept. witnesses	0.50 235.00/hr	117.50	
2/5/2013 Office - continue trial prep; email from Peter re tape expert; tc expert; harrassment transcript; identify constitutional/statutory "right" for civ rits cc; research jury instrucitions; motions in limine, sequester, etc. 10 am - 3 pm	5.00 235.00/hr	1,175.00	
2/6/2013 9:30 a.m Trial prep; tc M. Sankiewicz, audio expert; subpoena Dana; emails w/client; etc	4.00 235.00/hr	940.00	
2/7/2013 Receive/rev. Constitutional Rights document from client	0.20 235.00/hr	47.00	

		5		
			Hrs/Rate	Amount
2/	13/2013	Prep for trial; research and drafting; phone to Southbridge PD; prep and send new subpoena to Southbridge PD; Hampden County Law Library	1.75 235.00/hr	411.25
2/	18/2013	Trial Prep - elements; Jury Instructions;	5.00 235.00/hr	1,175.00
2/	19/2013	Client meeting 7:30 a.m 11:30 a.m., trial prep, 2 p.m. Meeting w/Atty Saperstein at her office	6.00 235.00/hr	1,410.00
2/2	20/2013	Trial prep at office: start reading transcripts of harassment case; draft motiion dir. verdict and 1st draft of memo; research recusal cases: email worcester sheriff re correction on Beane subpoena 3:00 p.m 7:30 p.m.	4.83 235.00/hr	1,135.83
2/:	21/2013	start 6 a.m review recusal cases; harassment transcriopt; meet Dana and Peter at restaurant at 7:30 a.m 9:30 a.m. Law library at 10:45 a.m 12:25 p.m research, jury instrutions, privacy, clerk's office (Diane) re available flatscreen; she called alter and ha ok from Chief security ken O'Connor; chekc with security at court entrance; check with Michelle in Bar Association; park across sdtreet (\$4.50 - no charge); return to office 12:30	5.25 235.00/hr	1,233.75
		Office - TC Mike Stankliewicz - 12:37 p.m. received/review rept and CV via email; download and copy; tml for Atty Sapersetein at 1:36 p.m.; received other mail from Peter re: DEP action vs. Town; start rev and prep exhibits @ 1:38 p.m.; finalize recusal; email to Peter; tc with Atty Saperstein; will met Monday; discuss witnesses, exhibits and tape authentication; all to be done Monday afternoon; informed Atty re intended use of TV and blog; work on revised dire verd memo	2.50 235.00/hr	587.50 ,
2/2	22/2013	Continue Transcript review; several emails w/Peter; print Peter's memo in support of dir verdict; review wiretap cases, Pine v Rust, etc. end at 6:33 p.m.	3.00 235.00/hr	705.00
2/2	23/2013	Saturday - 8 a.m 10:15, review and highlight final harassment transcript; call Peter for 11 a.m. meeting @ restaurant; 11 a.m 1 p.m. meet w/Peter, discuss variius issues; Peter to make copies of certain blog pages; (4 hours) 2:00 p.m. @ office, start jury insturctions - end at 8:00 p.m.	11.00 235.00/hr	2,585.00
2/2	24/2013	Trial prep, Sunday from 10:15 a.m - 5:30 p.m. Primarily worked on jury instructions.	7.25 235.00/hr	1,703.75
2/2	25/2013	Trial prep all day; 8:30 a.m. to 10:30 p.m.	14.00 235.00/hr	3,290.00
2/2	26/2013	6 a.m. review case file, testimony, etc. 7 a.m. meet Peter and Dana at restaurant; prep.testimony; leave for ct @ 8 a.m.; 8:45 a.m arrive Spfld D. Ct. hand pre-trial matters through most of morning; impanel jury; pre Forcier	7.00 295.00/hr	2,065.00

s

	1.				
		a • ?			
	Mr. Petr Fre	ei »		Page 8	
			Hrs/Rate	Amount	
		testiomny during lunch; 2 pm openings, Forcier; Johnson testimony; Peter on stand for direct by Atty Saperstein; start x-exam at 4:20 p.m. or som, introduce two exhibits; following court, meet with P and Dana; review events of day through 5:15 p.m.; return to office; prepare special verdict slips; research and prepare jury instruction re advefse inference from missing witness. 6 am - 9:30 pm = 15 hours : Court 7 hours; Out of court 8 hours			
	2/26/2013	trial prep	8.00 235.00/hr	1,880.00	
	2/27/2013	6 a.m. trial prep; re-organize Peter's testimony, etc; jury instructions; meet Peter and Dana at restaurant; leave early for office; make changes to dir. verd memo; type instructions; court for 9 am, break at 1, lunch w/Peter and dana in basement of court house; 2 pm - 4:30 pm finish trial, jury instrucitons; verdict slips; defend against moti dir verdict; after curt; light dinner with Peter and Dana at Chicago Uno; return to office, email proposed verdict slips to Asst Clerk-Mag John Stocks; prune file for take home materials needed for closing argument and other docs needed for court tomorrow at 8:30 a.m. leave office at 6:52 p.m. 7 hrs court; 5 hrs out of	7.00 295.00/hr	2,065.00	
		court: 12 hours thourgh 6:52 pm Out of court hours on trial day # 2	5.00 235.00/hr	1,175.00	
	2/28/2013	out of court hours on last day of trial	3.50 235.00/hr	822.50	1
		6 a.m 7:30 a.m. prep closing, final motions; 8:30 - 2:30 court; finalize jury instrucitons, closings, post trial motion n.o.v.; brief cf w/ Peter and Dana after court; 3.5 hours w/client and/or prep for trial finish; 5 hours in court	5.00 295.00/hr	1,475.00	
	3/1/2013	lengthy email to Peter	0.50 235.00/hr	117.50	
	3/7/2013	TC with Counsel for Plaintiff re atty fees; judgment not filed by clerk as of today; research atty fee, conflict issue, research 268A; tc investigator Steven Cole, prep opposition to award of pl fees;	2.50 235.00/hr	587.50	
	3/9/2013	Research: Atty fees, computer prob.	2.00 235.00/hr	NO CHARGE	
•	3/11/2013	Mond, still prob w/computer; H Cty law lib; Opposition Motion to Strike	1.00 235.00/hr	235.00	

	*		
		Hrs/Rate	Amount
3/12/2013	Finalize atty fee motion, affidavit, opposition, opp affid, file in district court, work on ethics commission letter 10 a.m 8: 15 p.m.; 10 hrs, bill for 8 hrs	8.00 235.00/hr	1,880.00
3/25/2013	Two lengthy days Monday, 3/25/13 and Tuesday 3/26/2013 researching atty fee cases, sufficiency of supporting affidavit, common core claims argument; etc Mond/Tues 3/25 & 26	8.00 235.00/hr	1,880.00
4/4/2013	Finalize and file Def Opp Plaintiffs Mot Strike; Affid. in Support of Def. Opposition to Plaintiffs Motion to Award Counsel Fees, Affidavit of Atty Gelinas	3.00 235.00/hr	705.00
4/9/2013	Research Defendant supplemental Motion for Fees and supplemental Opposition to Award of Fees to Plaintiff	4.00 235.00/hr	940.00
4/10/2013	Finish research and finalize Def Supplemental Motion for Atty Fees and Supplemental Opposition to Award of PI Atty Fees.	5.00 235.00/hr	1,175.00
	Prep subpoenas for service on Town Clerk, Town Treasurer and Selectman Kennedy; deliver to Sheriff. Order trial tapes.	1.00 235.00/hr	235.00
4/12/2013	Research FOIA; serve multiple FOIA requests for atty fee information on Town, certified mail RRR	1.00 235.00/hr	, 235.00
4/16/2013	Rec/review Plaintiffs Motion to Continue atty fee hearing date of 4/18/2013	0.10 235.00/hr	23.50
4/17/2013	Prep Atty fee Hearing; Multiple phone calls with Ben Coyle representing Town of Holland re subpoenaed Town Records; Following TC with Coyle, TC with Selectman Kennedy; health issues; admits Town paying Johnson Legal Fees; TC Tani Saperstein; TC Diane in Clerk's office and client; follow-up email to Mr. Kennedy and his attorney.	2.75 235.00/hr	646.25
4/18/2013	Court Re: Plaintiffs motion to continue hearing on fees and to do so after entry of judgment and decision on motions NOV - allowed by the court; Confer with Atty Ben Coyle for Town following court; return to office; begin review for opposition to plaintiffs motion for Judgment NOV, Rule 50 law and citiations re civil rights case.	2.50 235.00/hr	587.50
7/30/2013	Rec/review Plaintiff's Motion for Judgment NOV; tc Palmer District Court Clerk	0.35 235.00/hr	NO CHARGE
8/2/2013	Research, draft, edit & file Opposition to PI Motion for Judgment N.O.V. 9:00 a.m 12:45 p.m.	3.75 235.00/hr	881.25

	•••?		
Mr. Petr F	rei		Page 10
		Hrs/Rate	Amount
9/11/2013	⁸ Prepare for hearing on Johnson's Motion for Judgment NOV; rev. file; outline argument; rev filoe restatus of atty fees, ethics comm investigation and global settlement with Town. tml for Atty Ben Coyle; email and fax sent; rev records re atty fees; need file motion to supplemetn evid. TC with BBO counsel jane podalski re submission of Saperstein's billing records provided by Town without restriction re: cross motions for atty fees.	2.00 235.00/hr	470.00
	Hearing before Judge Poehler on Plaintiff's Motion for Judgment NOV. Hearing date set for Atty Fee hearing, Friday, October 24, 2013 @ 2:00 p.m. 1:30 - 3:30 pm	2.00 235.00/hr	470.00
9/12/2013	8 email w/Peter; status update	0.10 235.00/hr	NO CHARGE
9/16/2013	 Rec. Peter's email correcting fee invoice. Corrections made in revised invoice: Bal after corrections = \$6,965.57. 	0.15 235.00/hr	NO CHARGE
10/16/2013	8 Rec/rev Court Order Denying Plaintiff's Motion for Judgment NOV; send copy to client	0.25 235.00/hr	58.75
10/22/2013	Hearing prep; Tc Ken Albano; explains involvement; says he'll call tomorrow; research indemnification statute and cases;	0.25 235.00/hr	58.75
10/23/2013	B Prep for hearing on 10/25 re atty fees; call Atty Ben Coyle, leave message; TML for Atty Ken Albano also; Review Motions Oppositions; invoices, etc, prep oral argument	4.00 235.00/hr	940.00
10/25/2013	Final hearing prep for Atty Fee motion hearing in morning; Hearing on Atty Fee Motion at Spfld D. Ct., Judge Poehler	2.00 235.00/hr	470.00
12/13/2013	B multiple emails with Peter regarding 12/12/13 invoice, clarifications, adjustments, etc.	0.50 235.00/hr	NO CHARGE
	For professional services rendered	263.72	\$62,178.78
	Additional Charges :		
2/3/2012	2 Catuogon Reporting - Transcript	2	85.00
2/26/2013	Tape authentication/Audio expert M. Stankiewicz		2,500.00
8	Staples - Trial Exhbit Enlargements	5	331.67
2/28/2013	Hampden County Sheriff service of process fees.		105.34

\$

Mr. Petr Fr	ei	Page 11
		Amount
2/28/2013	Worcester County Sheriff fee	70.78
	Total costs	\$3,092.79
	Total amount of this bill	\$65,271.57
9/6/2011	Payment - Thank You	(\$2,050.00)
	Payment - Thank You	(\$5,000.00)
	Payment - Thank You	(\$5,000.00)
	Payment - Thank You	(\$5,000.00)
	Payment - Thank You	(\$5,000.00)
	Payment - Thank You	(\$5,000.00)
	Payment - Thank You	(\$10,000.00)
2/26/2013	Credit: Client paid tape authentication expert directly. \$2,500 included for purpose of showing bona fide case expense. Having paid this bill directly, client does not owe \$2,500 to this office.	(\$2,500.00)
4/10/2013	Credit	(\$10,000.00)
6/20/2013	Credit - Thank You	(\$9,000.00)
12/26/2013	Payment - Thank You	(\$6,000.00)
	Total payments and adjustments	(\$64,550.00)
	Balance due	\$721.57

\$

D.S.

Henry L. Rigali

Attorney at Law

78 Maple Street Springfield, Massachusetts 01105-1813 <u>hrigali@aol.com</u>

Telephone: (413) 736-6600

Tele-facsimile: (413) 736-6606

FINAL INVOICE AND ACCOUNT

July 20, 2014

Mr. Peter Frei 101 Maybrook Road Holland, MA 01521 (413) 245-4660

Re: Brian Johnson vs. Peter Frei Palmer District Court, Civil Action #: 1143CV293

Dear Peter,

Having spent the better of part of Sunday reviewing almost three (3) years of litigation records for accuracy, I am enclosing final invoices to settle up your account. After review, the previous estimate I gave you of \$5,000 was low by \$2,300.00. The total due is \$7,300.00. Although I believe them to be spot on, as always, please double check them against your own records.

There are two invoices. The first covers from 8/18/2011 through 12/31/2013. There is a balance of \$721.57 which reflects a few hours of work omitted from the old 12/13/2013 invoice we previously discussed.

The second invoice reflects time and expense from 1/1/2014 through the present. The balance due is \$6590, hence the total of \$7,300.00 (\$7,311.57 to be exact). Both invoices reflect many hours for which "no charge" is being sought and there are many hours spent not reflected at all.

To date you have paid my office roughly \$64,550. Upon payment of the remaining \$7,300.00, you will have paid a total of \$71,850.00. You are welcome to review the file in my office at any time.

Thank you for the opportunity to be of service. No hard feelings, Peter, and best wishes for success in future endeavors.

Sincérely. . Riga

Ccy-hlr enclosures (2)